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Part - A
COMPUTER RELATED

U -

GENERAL KNOWLEDGE

1. is not a function in MS-Excel
software.
(A) SUM
(B) PRODUCT
(C) COUNT
(D) AND

2. It is a translator for low level
programming language :
(A) Compiler '
(B) Interpreter
(C) Assembler
(D) -Loader .

3.  Which of the following is n
of “PARAM Super Compgie

(A) PARAM Kranti
(B) PARAM Padpia,

(C) PARAM Q’

(D) PA

4. Which of the following printer is
commonly used for Desk Top

Publishing ?

(A) Dot Matrix Printer

(B) Laser Printer

(C) Line Printer

(D) Thermal Printer

=

N

T
;(a
ECAVERS
Q C) TEwTR
(D)

TE-TEE wdal § a8 TH Her
{W) T

(A) SUM
(8) PRODUCT @
(C) COUNT
(D) AND O
.. O

%“ﬁ@@ﬁ qrer’’ 1 HATAEH
Q=

s

fret § @ - T R X I
1 TS T §?
(A) T Hifd
(B) THEH
(© wTEIA
(D) T 8000

fre B QB T e SRR W e <
st 3 ST § G S e ?

(A e Afg T
(B) SR fUxX
() @ fi
(D) o e
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5.  Which of the following is an open source 5. T/ & @ &1 @ i 9 e fawen

operating system software ? i & ?
(A) Haiku (A) TF
(B) Windows B) fo<g
(C) Open Solar (C) 39 Gier
| (D) Google (D) T
6.  “bits” means : 6.  “bits” Bl
(A) binary data (Ap bin
(B) Dbinary trees
(C) Dasic integrated technique @ asic integrated technique
(D) Dbinary digits (D) Dbinary digits
O
7. The Qulck Time format was d Q “foee Tgw wEE % gwI
[EERRRERIR R
(A) Microsoft & (A) TISHITIR
(B) Intel \ (B) 3e&
(©) Apple (©) T
(D) GOO Q (D) T™
8. Search engine can search : 8. U9 3o § W H GH ¢ :
(A) Videos (A) fafedm
(B) Images (B) zOS®
(C) Documents (C) SrRHH
(D) All of these (D) I |t

SPACE FOR ROUGH WORK / % && & fet&l Wig
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9.  Which of the following storage media 9.
provides sequential access only ?

frg # § HA-O1 WIS Hifed sequential
access (e TR SIETH) e hdl

(A) Floppy Disk (A) T fewn

(B) Magnetic Disk @) Tefew o=

(C) Magnetic Tape (C) TAfesw

(D) Blue ray Disk (D) =X fe= @
10. “Abacus” is derived from the Greek word 10 “ Abacus”’ T,ﬁm ﬁwm

L g ’\ N

(A) Baxa (A) Q

(B) Abac B) éc

(C) Abax \bax

(D) Abaca N OQ(D) Abaca
11. A computer virus is a @11. e CANC IR B!

(A) bacteria 6 (A) FRfa '

(B) hardware \ (B) FISERE

(C) computer c@ (C) HPHX HIS

(D) none

12. .wmv stands for : 12.

(A) Windows Motion Video
(B) Windows Media Video
(C) Windows Media Version
(D) Windows Master Video

(D) mﬁ@aﬁé%ﬁ'«rﬁ

wmv hl o ®

(A) Windows Motion Video
(B) Windows Media Video
(C) Windows Media Version
(D) Windows Master Video

SPACE FOR ROUGH WORK / TE T & o SE
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13.  Which of the following is an anti-virus ? 13.
(A) Avast (A) Avast
(B) AVG (B) AVG
(C) Norton (C) Norton
(D) Al of these (D) SR Teft
14. Who of the following invented 3-D 14. T # § f& (-%1 fyfdn T =
printing technology ? Tfershr
(A) Steve Jobs (A)
(B)  Wilbur Wright (B’\Qm g
(C) Bill Gates Ted
(D) Charles Hull ) e g
15. SEO stands for : . OQ 15. SEO & fawar & :
(A) Search Engine Operator % (A) Search Engine Operator
(B) Search Engine O on (B) Search Engine Operation
(C) Search Engine‘Qptifgization (C) Search Engine Optimization
(D) Search Enth ation (D) Search Entry Operation
16. ek SHE YT 0 & 11 dslt goit § sren

series Qf U8 and 1s. This program is

called :
(A) Machine Language Program
(B) Fourth Generation Program

(C) High Level Language Program

(D) Assembly Language Program

Q:
A cor@ created usingalong  16.

TR T G I wEd © 1

(A) TR0 Svas I
(B) iteft it =1 M (el ST W)

(C) =0 WY 99T U (=18 Hael e
1112

(D) T AES gm
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17.

—————(By—Floppy Pisk————

18.

19.

20.

Which of the following storage mediacan 17

store 25 Gb or more data ?

(A) Blue-ray Disk

g § W BE-w SR WEAH 25 Gb Ao
afirs ST T WSRO L Ul © 2

(A) Blue-ray Disk
(B) Floppy Disk

“Find and replace’’ dialogue box is 18.

opened when  key is,pressed
in MS-Word document.

(A) F2
(B) F3
(C) F4
(D) F5

Which of the following is a protocol uied

2

on the “Internet’” ?

() IEEE \Q
(B) HTML &
(C) TCP/IP \\
*
(D) Java

\9.

Junk e-ma@) called : 20.

(A) Script
(B) Spoof
(C) Stage

(D) Store

(C) DVD

(D) CD

Tg-ad TR S N
. e we Rew”’ ECIESRE Gh
K]

(A) F2 C)O

(B) F3A o

©

fre A Y B N ¢ g H S
T S ® ?

(A)
(B) HTML

IEEE

(C) TCP/IP
(D) Java

e 3-Tret Bl el W :
(A) Script

(B) Spoof

(C) Stage

(D) Store
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Part - B /Y T-9@ 23.

(i) Tkt =meRvoT |@fea

‘€, ‘1, ‘g’ wE T Fuil SR WM &
e AT FHR

(A) 333, qef, ddrgd, %3

21. ‘‘geat #¥ wften <@, i H @@ A9 W EE
T, 3R el | SaveRt, i U 9o -
W 9 g amae & ove foum fag
T eI T g T 2

(A) Te HY St S
(B) TR H ww I W =g T
(C) 3R F&T | SHH

(D) Hien 3u% <l 3T

22, STEYRUEYE R @ syq
¥? \

(A) ﬁiﬁ?%@%ﬁﬂl 25.

(C) AfE W e F I Sad erm @y ot
TR ST |

D) Sy

(B) “had, 3y, gdngd, IH=
(C) WY, FigF, Ty, oy

A3y, 34,

N
e

(D) <drsy, , qH=

@Qﬁ%

ST + SR

fretifera o Suar T T ¥
(A) T

(B) S

(C) U

(D) TEFhe
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06, FreAita § SRR el © : 09, TvaT T H WA WA A WA 2

(A) T e R Al AR
.- (A) Sy SOl TARE-TAE A1 WA S

3 e e

(B) Soe gL 4 et

() o HE (B) o =l e e R

(D) Sarae @ sEet - T A

(C) form =il § o1 T =
T aNE- '
27. ‘m’wmmaﬂﬁm%? C)

L 2

(A) T TR (D) ‘%mmﬁﬁ@ww—
(B) T A é g
(C) oy A Q
(D) A O
@ 0. Trevifea weal § @ QWS W P T

& I :
S

28. ‘wEEYfs, W AR ' - e
%m@w& 3 (A) <L
(A) \v (@) e
(B) W

(©) e
() wfFar
(D) s # A R T (D) o=

SPACE FOR ROUGH WORK / Y% FE o foa g
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(ii) GENERAL ENGLISH WITH 3.

The adverb form of ‘good” is :

GRAMMAR (A) well
31. Vandana asked me : (B) goodness
(A) what the time was. (C) Detter
(B) what is the time. (D) best

(C) what's the time.
(D) what the time is.

37.

32. She
(A) said
(B) told
(C) asked
(D) tells

if I was busy.

33. Choose one word for the underlined

words.

She walked around in a leisurely 38.

manner in the garden.
(A) stalked
(B) strolled

(C©) marched . 0:
(D) prowled % 39

34. Choose the passive form

Someone killed the s
(A) The snake kill \d e.
(B) The snake was '

C) The sna IQ1 led someone.
The d by someone.
35. Choos t option to complete the
proverb. ‘ 40.

A stitch in time saves

Choose the right option :
They did it

(A) them

(B) themselv@
©) the
(D)’ themgsel

\0

ves the house.
roke into
(B) broke out
(C) broke in

(D) broke down

Reena is hardworking very

intelligent.

(A) but

(B) and

(C) yet

(D) so .

A physician is a :
(A) scientist .

(A) time (B) professor in physics
(Ié) guead (C) medical doctor
ED; nl;’r?e (D) physical fitness guide

SPACE FOR ROUGH WORK / Th &1d & fo&t sg
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(iii)) GENERAL MATHEMATICS

(iii) G TOTT

41. The least number, which- when divided 41. 92 Ty B Eagesific e T fo9 12, 15, 20
by 12, 15, 20 and 54 leaves in each case a s 54 T Y T8 Ao W B
remainder of 8is : R
(A) 548 (A) 548
(B) 544 (B) 544
(C) 538 (C) 538
(D) None of the above (D) S RO @

42. The height of a right circular cylinder is 42, @aﬁﬁfﬁq 28 . q1 G
28 cm and its curved surface area 44 cm?. 'EP'f Q. ¥, Toh 3TMUR
What is the radius of its base ?

(A) 4cm (A .

(B) 8cm g oI,
. a 1

(C) 7 em E (@) 1 .

D) \Q D) = h

(D) 5 cm é O 3 ¥

43. 16 pipes fill a a minutes. 43, 16 ET TH TH W 14 i # a §L
9 pipes becor& iceable then the 9 YT T @ S W T R [WH T
remammg% 11 fill the tank in : et ?

(A) 32 minutes (A) 32 fiFe
(B) 28 minutes (B) 28 e
(C) 40 minutes () 40 fae
(D) 42 minutes (D) 42 frFe

"~ GPACE FOR ROUGH WORK / 1% w8 & fod e
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44. T 8000 is invested at the compound  44. ¥ 8000 T 20% 9 R T 2 94 6 AE FI
rate of interest 20% per annum. What Wﬁ%w@ﬁﬁﬁmmm@m?

would be the compound interest at the

end of 2—;— years ?

(A) T 2890 (A) T 2890
(B) ¥ 4672 (B) T 4672
(C) T 3672 (C) T 3672

(D) ¥ 2990 | (D) ¥ 2990 ®

45. The successive discount of 20% and 10% 45. 20%,79T 10%/% T FHAR g T T

is equivalent to : ﬁ'@% 77
(A) 72% A

(B) 28% B) 28%

(C) 30% Q (C) 30%
O

(D) 18%

(D) 18% %
46. On simplification & 46. TelHd A |

@M Bk

(A) 7?0 (A) 72

(B) 78 ' (B) 78
(©) 68 (C) 68
(D) None of the above (D) IT H | H T

SPACE FOR ROUGH WORK / 1% &1 & fo &g
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2 2 2 2
(489 + 375)% — (489 —375)" _ oy, (489+375) — (489375 _,

47. .
(489 x 375) (489 x 375)
(A) 864 (A) 864
(B) 2 (B) 2
© 4 | ©) 4
(D) None of these (D) = A HE
48. A motorist travels to a place 150 km away 48. T% dred 9 1 FHT ®1 T
at an average speed of 50 km/hr and 50 ﬁh‘f—ﬁ/ﬁaﬁ Tl & ST AT
returns at 30 km/hr. His average speed 30 fopeit/ =02t =t T 7 HE,
for the whole journey in km/hr is : o gaE A 5 =t feredt/ster |
A ? Q
(A) 375 (A @
(B) 37 7
(C) 35.5 | ) 35.5
(D) None of the above (D) SR H & B T
49. Three partners in a busin T FEeRl H1 Th AR Y Y ST
profitin the ratio of 5:7: 8. 5:7:8%) TR U HAW: 14 WEH, 8 WEH
amount they had investé& iRy tite business qem 7 TEr % o Frafe @11 e e
was for a period s, 8 months T ST T 2
and 7 months r ively. What is the
ratio of thew a nt invested in the
business ?
(A) 5:7:8 (A) 5:7:8
(B) 20:49:64 (B) 20:49:64
(©) 38:28:21 (©) 38:28:21
(D) 21:28:39 (D) 21:28:39

SPACE FOR ROUGH WORK / T% &rd & ferdl Wire
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The purchasing price of an item is 75% of ~ 50. ot o5 &1 Fa-cd 56 3ifea el

50.
its face value. If the trader allows a 75% ®1 15% 91 37 F A€ AR 1 A4
discount of 15% then his gain percentage e foran 2 2
is :

1 1
=% 13=%
(A) 133 (A) 3
1 1
3—% 3—"%
(B) 13 (B) 13
C 4—}— % C 4_. %
( ) 13 ° ( ) ®
1 [s)
(D) 13% D) 1B O
51. Raja got married 8 years ago. His present ~ 51. T'% 8 U Te g3 | S SAHIT
6
age is ¢ times his age at the time of his % %Wﬁ?ﬁlﬂm ﬂ'ﬂ%l T
marriage. Raja’s sister was 10 years o T ST | 8T Y IOW@E'T of | &t
younger to him at the time of h ST 1 & )} SHE g 2N
marriage. The present age of Raja’s s
is:
(A) 36 \Q (A) 36
(B) 38 & (B) 38
©) \ (C) 40
(D) Noneof t e (D) T 4 %8 &

52. Thea \la rilateral respectively 52, fRHt =gyds _'33' aﬁ'UT T 26, 36, 46 TS 99
are 20, 40%and 96. Find the difference G THF gog EI% T gId BRI
of its largest and smallest interior angles. SHITT T ST B ¢
(A) 20° (A) 20°
(B) 40° (B) 40°
(C) 180° (C) 180°
(D) 140° (D) 140°

SPACE FOR ROUGH WORK / Y% &Td & o™l Sig
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53. What is the unit digit in the product ~ 53. TI®d (365 % 659 x 771) F i THE Ak

(365X659X771) ? %-7

(A) 4 (A) 4
(B)y—> (B) 5
(©) o © 6
(D) 8 (D) 8

54. A dog takes 4 leaps for every 5 leaps ofa 54, WONN W TAE 5 DA FR P 4 '@Fﬂ"f

hare but 3 leaps of a dog are equal to W%Wﬁﬂﬁ 3
4 leaps of the hare. The ratio of their F AR 1 A W
speeds is: < |
.
(A) 4:5 (A) 4:5 .
(B) 16:15 (B)
(C) 3:4
(D) None of the above o Y FE T8

O

55. The average of 8 numbers is 20. T@S. 8 3‘!@ w7 ofmd 20 %1 A g T ekl Hl

average of first two numbers &E sired 15% 3 iR aTmet @ ofl w1 el
that of the next three is 7J the sixth 21% ) ofz Tear ol amd SR Ted iF
number be less t&%geventh and q HUW: 4 I 7 HA %, qr erraal 3T B
eighth number respectively,

then the eigl@er is :

(A) 22 (A) 22

(B) 18 (B) 18

() 25 (C) 25

(D) None of the above (D) IR B | A T

SPACE FOR ROUGH WORK / T% & & fordl e
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56. A cone, a hemisphere and a cylinder have 56. U WE, Th 3T TN 91 UH S & I -
same base and height. What would be TR G THM S9TEal § 1 ST STl &l
ratio of their volumes ? ' STTT ST SR 2
(A) 2:3:1 (A) 2:3:1
B) 1:2:3 B 1:2:3
(€ 3:2:1 (© 3:2:1
Dy 2:1:3 (D) 2:1:3 )

57. A shopkeeper on the face value of anitem  57. T TR @ FAferd eI W 8%
allows a commission of 8% and earns a FHHIH 15% o9 FHEI§ 1 afg
profit of 15%. If the purchasing price of [ER LS ~ea T 80 A, <t gHet Sifera
an item is Z 80, then the face value of the , ‘ %1"” ?
item is : O
(A) 92 (A) 92
(B) %100 Q (B) %100
(C) T 115 N O (© T 115
(D) X 107 @ (D) X107

58. Three spheres of ia ii% cm, 4 cm and 58. 39W, 4 Iuft, o 5 . Bl g e
5 cm are melte er to form a new el &l fo'EI'Q'fﬂEFR Teh 40 AT ST T €
sphere. Eipt thediameter of the new TS T BT S Teherl '_%.7
spherv
(A) 6 cm (A) 69
(B) 12 cm (B) 12 .

(C) 10 cm (C) 10 &
(D) 85 cm (D) 8.5 G,

SPACE FOR ROUGH WORK / T& &1d & fordt g
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61.

percentage ?
(A) 20%

1
22=—%
® 22
*

C) 25%

(D) 32% &Q
Two tailors X and Y aré p\a

total of
T 550 per week by ¢he @ Ployer. If X is

paid 120 pe Asum paid to Y,
how much iSN{ paidper week ?

(A) 200

(B) 250

(C) 300

(D) 350

61.

59. The total surface areas of a cube and a  59. Tt §F q91 T T 6 ququl 753 GHA g,
' sphere are equal. Find the ratio of their T ST T ST T B 2
volumes.
(A) Jz:\2 (&) JwiVZ
(B) Jmw:6 (B) w:6
©) Vw:3 € Jr:3
(D) w7 D) Jw:7
60. If T 32is reduced from the face value of a 60. T TSt & 3iferd @'ﬁ FLJH
watch, the shopkeeper gains 20%. If its EIEEEIRE Eq| o 1 afe sqa@
cost price to be ¥ 640 and if it is sold on its HI-HI T 640 &, T W s W
face value then what would be the gain Bk %“'ﬂ?

&

QB 22%
>

25%
(D) 32%

A o X R Y # A% Rl 3 g9

- 7 550 wfa Twe weE fRA 1 Al X @ U,

Y & yer =t ¢ U ¥ 120 wfavw @&, @
Y =t et ufh g feet gl ?

(A) 200
(B) 250
(C) 300
(D) 350

SPACE FOR ROUGH WORK / T% &rd & o smg
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5 - o L5
62. One-fifth of a number is equal to 7 of 62. fodl Wem é;)—: ol He B *F T

another number. If 35 is added to the first 1 afE gl Hem # 35 el 1 @ 9 gEl
number, it becomes four times of the A T TR A B SHE He g
(A) 70 (A) 70
(B) 40 (B) 40
(© 125 (©) 125
(D) None of the above (D) SWEH Y TS Tl
63. In the given figure AOB is a straight line. 63. T TE & TF T G R, T

Find the values of x and y.

(A) x=40, y=30

(B) x=90, y=30 \Q@ (B) x=90, y=30

(A) x=40, y=30 *

\E OQ

C) x=30, y=40 C) x=30, y=40
y Y
(D) x=30, y=90 (D) x=30, y=90

* .

* s Ll 4
ed from a number, it 64, THE €@ G 24 TLH T IHH = B W g,

64. When 24 is

redu yfour-seventh. What is the IH G F k! HT AR FAT ST 2
sum of igits of that number ?

(A) 12 (A) 12

(B) 11 (B) 11

< 9 < 9

(D) None of the above (D) ST | 9 HE T

SPACE FOR ROUGH WORK / Y& & & fod wimg
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65. Find the value of x in the figure given  65. & T SRy T x 1 W TR € 2

below.

C
]
30°
A<I40° x°
5Qo
B
(A) 100° (A) 100°
(B) 130° (B) 130° O@
(C) 120° < 120’\
4
(D) 110° (D)

66. The cost price of an article is 30% of dts S fordt a%g @1 HA-AT 3H 9] ERCERR (2
selling price. What percent is the selli 1 30% Tt ToRd Yo, HI-Ted Rl [ESEL
price to that of the cost price ? Q i 87

250 & 250
& S &) =%
300 &: 300,
(B) % . ® %
100 100
—% %
© 3 © 7
1000 1000
D) —— %o ' D) %

SPACE FOR ROUGH WORK / 1% & & fodt S8
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68.

67. Inthe given figure of a AABC theside CB  67. I 7§ aT&fa § AABC &1 4ST CB ®I D 7%,
is extended to D, side CA is extended to CA &I E % 91 BA &1 F e 93741 7741 i
E and the side BA is extended to F. If afg ZABD=140°, ZEAF=30°, 99 LACB
ZABD=140°, ZEAF=3(° then ZACB=? B
Eﬁke’owr- i A;:; F
N
N AN
D B C D B C
(A) 110° (A) 110°
(B) 40° (B) 40°
© 70° (© 70°
(D) 30° (D) 30°
If 2¥=1 4+ 2%+1 = 1280, then the value of ~ 68. fg 271 & 1280, 4l x 1 79 811
*

69.

70.

xis:

(A) 8
(B) 9
©) 15

(D) None of the above

The average of 20 numbers is zero.

them, at the most, how many mayé%

L 2

2

greater than zero ?

(A) 1

2L Q8
(¢ 20 &

(D) 19 \

Four different elech evices make a

’mmutes, 1 hour,
hour 45 minutes

beep after ev

70.

R

(D) U= H A+ 7
0 sil 1 oige g §, I @ ofrw @
fys foray ofe v &2

(A) 1

(B 0

© 20
(D) 19
IR gAGIToh IUHTTT HAY: T 30 fifr,
1 5@, 1 521 1d 1 92 45 fafre ¥ srave
Y g 5t 37T 20 ¥ Afe wedt sww uw

1% hour

respe%&%‘ll the devices beeped WY Y STETS 12 I S9e B | &
together a2 noon. They will again beep AT IR T WY S T A7 B
together at :

(A) 12 midnight (A) T 125

(B) 6 AM. (B) 6 AM.

© 9AM. © 9AM.

(D) None of the above (D) 39 H | N &

SPACE FOR ROUGH WORK / 1% &Td & o g
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Part-C AqET-TT

(i) GENERAL MENTAL (i) T WA S
APTITUDE
71. If A=26, SUN=04 then BAT =7 71— A=26, SUN=04 F-BAT =2
(A 7 A 7
(B) 8 (B) 8
© 9 © 9
(D) 23 (D) 23
72. Study the figure - carefully and answer 72. o &1 wAFES R T 1 SW
the question. EHiELy
Educated O g gan
Unemployed eLH ’\ F
Youth—(G W‘% G /[C|B\
Youth in O TTHIoT ga
village
Educated employed Youth in village are JYSFTR oK AT T =l M ¥ :
represented by : Q
(A) A . 0 (A) A
(B) B % (B) B
€ E \Q € E
(D) none of the above & (D) I | W B A6
73. There is some relaﬁoﬁ%\zetween the 73. fa= .. % o R g g A @A FS

two terms on the of : : the same W%IWW'HW%W@TQ?
relationship S‘& een the two term SIS, ﬁfﬂﬁ'@@ﬁﬁ'@'ﬁ%l faqw
the

of right n : : of which one is g Y J AU |
missing. Fin missing term.

4:26::9:___ 4:26::9:______
(A) 57 (A) 57

(B) 86 (B) 86

(© 101 (C) 101

(D) 108 (D) 108

SPACE FOR ROUGH WORK / T %Td & foid WTg
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74. Find the wrong term in the given number 74. < TE SEm 40 § o[ Ug 91 1)

series.

3, 12, 27, 50, 75, 85 3, 12, 27, 50, 75, 85
A)y—27 (A) 27
(B) 50 (B) 50
(C) 75 ) 75
(D) 85 (D) 85

$

'75.  What should come in place of question 75. fed 3 guft ‘@%%WWWW ?
.
4

mark in the given series ? \
2,11,34,77, 146, _ 2 20%, 146, 2

(A) 165 )

(B) 187 OQ (B)

(© 220 d (Q)
(D) 247 ,&Q (D)

165

187

220

247

76. Find the missing t kiven series. 76. o3 7 4oit # foqa o5 9 |
*

K, XN, U, :

(4) H \Q ()
®) 1 ®)
© J ©
(D) X (D)

]

K

K.XNUSPZ_2 .

SPACE FOR ROUGH WORK / T% &Td & a8 sg
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77. Toera O I W

77. Find the missing term :
2 3 6 2 3 6
6(10)2 s(8)6 6(2)4 6 (10) 4 86 6@4
7 4 8 7 4 8
(A) 14 A) 14
B) 15 (B) 15
(C) 16 (© 16
D) 17 ®) 17 @
78. In certain code language ‘253’ means  78. QZSS’ 1 HAdT™ “books
“books are old”, ‘546’ means “man is old” 2, ‘546’ 1 HATH “man is old”
and ‘378 means “buy good books”, what %! AaAd “buy good books” g,
stands for ‘are’ in that code ? re’ ¥ oAU =1 Hie g2
(A) 2 2
® 3 \Q ® 5
© 4 O © s
(D) 6 @ (D) 6
79. Find the missing term’. \& 79, foeim 78 9@ A
25 | A Q‘ 25 | 4
117 \'& 117 7
59 59 i5 N 59 5 19
(A) 327 (A) 327
(B) 386 (B) 386
(C) 438 (C) 438
(D) 469 (D) 469

SPACE FOR ROUGH WORK / T% & & fad se
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80. TFind the odd one. 80, W EIWE WAl

(A) 63 (A) 63
(B) 15 (B) 15
€ 31 () 31

(D) 57 (D) 57 @

81. Inthe following figures the three different  81.
sides of a cube is shown.

® AN O
(% | i ] B = ° =
| X X o | > OQ X o

. :

(i) (i) (iif) @) (i) (1)
On the basis of above an Qven ST AR R fed T g9 & W 2|
question. ‘X’ o 2t GO AN S Gohd § 2
Which sign is just oppoSite§o X2

L 2
A) o \é\"& | &) o
. (B)

(B) .
© o © o
(D) %X - (D) %

SPACE FOR ROUGH WORK / T% &1d & et srig
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82. Find the number of triangles in given g2. @ 3 o 8 Pl &t g I W

figure.
: N
(A) 10 (A) 10
®) 12 (B) 12 @
© 13 © 13 QO
(D) 14 (D) 6® *

83. Which of the following diagran,
.

complete the given figure matrix ?
T/ ,&‘Qz’

e\
08 &
®) \Q

©

® [N]

F 9 @ o fora g g T A

T HM ?

I

/
<|?

e
(A)
(®)
(©)
(D)

SPACE FOR ROUGH WORK /% & o
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84. Choose the Venn Diagram which best 84. 3§39 ﬁ?ﬁﬁﬁqsﬁﬁ%,mﬁﬂﬁ

illustrates relationship between Triangle, TS Rt iyt % e & el @y & &Y
Scalene Triangle and Right angled i fafea = ¥
triangle.

(4)

85. Find the missing number. Q ) .
8 |14 | 2 6 8 |14 2

37 | 28 .\

26 26 | 37 | 28
12|15 | 1 ¢ 1215 | 11
(A) 130 | (A) 10
(B) 12 (B) 12
15 (Q 15
D) 17 D) 17

Set- A
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(i) GENERAL KNOWLEDGE

86. Indian Standard Meridian is :

(ii) S AT

86, VREG A QAT T :

(A) 80°.00" East (A)_80°.00
(B) 81° 30" East (B) 81°30 T
(C) 82° 30 East ©) 8230 T
(D) 83°.00" East (D) 83°.00 &
87. Which is not correct for rural g7. @d 2018-19 ED Tt T
development under Central Budget forerra % faQ T 82
2018 - 19 ? .
L 4
 (A) Construction of more than 3 lakh (A 3 aiferer TohaiHieX Hghi
k.m. roads
(B) 60 lakh new rural houses will be 0 <T@ T3 TTHIT ST R ST
constructed Q '
(C) Construction of 1.88 crore toilets * Q (C) 188 S Jiremerdl = i
(D) 1.75 crores new householdse (D) 175 wirg T qfEml ® fersrett =1
connection & HARA
88. What per capita inc &rrent prices 88. o8 2017-18 ¥ forg BdTE 9 e e
is advanced esti hhattisgarh for gt = o femet S w4 S ERIRE
the year 2 / R TE?
(A) R 84265 (A) T 84265
(B) 91772 (B) 91772
(C) ¥ 92035 (C) T 92035

(D) ¥ 102507

(D) ¥ 102507

SPACE FOR ROUGH WORK / T FE & fad s
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89. Match the following : 89. Sfem dey Sifed

(a) Lakshadweep (i) Gangasagar (a) A% (i) TTERR
(b) Port Blair {ii)—Stalactites ———— (b e () STegad
Stalagmites Tregamey
(c) Bay of Bengal (iii) Cellular Jail (c) ST Wt @rEt (iti) I B BBY
(Se)
(d) Buratang Island (iv) Coral (d) ST g iv) T (YETe)
@ () () (d) @) Qc) (d)
N
(4 0 @) @) @) AN @ @) @)
(B) Gv) @EH) @ @ (iv) (i) (i) ‘(i)
© @) @) O @ Q@Q @) @) 6 @)

.
D) @) @) @ @) @0 (D) @) @ @ (v)
90. Which Five Year Plar@ng inIndia ~ 90. qHF # HAH TEET For yR B =l

*

at present ? o wWe?
(A) 1®é (A) 12 & Fe

(B) 13t Plan (B) 13 & &
(C) 14t Plan (C) 14 ff s
(D) None of these (D) ¥ ¥ ®E T

SPACE FOR ROUGH WORK / % & & fodr wmig
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91.

Which is correct about the Presidential
address to the Parliament ? ‘

(a) He can address any house of

Parliament.

91.

W%Wm%ﬁwﬁmﬁ@q@w
%2
(a) o dug % e off TeT & G

92,

155

(b) He shall address the first meeting
of Parliament in each year.

(c) He shall address the first meeting
of Parliament after each general
election of Lok Sabha.

(d) He shall address the first meeting
of Lok Sabha after each general
election.

(A (@

® @ ®

© @ ®)©

D) (@) ®) © ()

The focal length of plane mirror is:
(A) Positive

(B) Negative

(C) Zero

(D) Infinity

In which removal resolution & is

e\signature of

*

passed by Parliament
President is essenti ¥ :

(a) Chairman@%abha

(b) Speake & bha

() Chiwe of Supreme Court
(d) Judges of Supreme Court

(¢) Comptroller and Auditor General
(A) (@), () ()
®) ®), @ ()
© (@ (@) ()
(D) (d), (e) @)

(b) a’gmaﬁw;%wnqﬁrrm@
Franfad S|

(© ST ¥ T S A R TR
%M%ummﬂﬁﬁw
HET

(d) mww%ma@meﬂ
¥ gum A d M |

(a) (@

(B) (a)4b) ()Q

© (@O
(D) o), (d)

92. S0 Y Hrehd g4 €

O
&>

YT
(B) FIHH

€ A
(D) 4

93, m@qﬁa'@ﬁmmqﬂﬁlwm

rrtgwﬁrmmmmm%?

" (a) TSEEMIH ERILIG]

(b) AreRET o THET

(c) W = ¥ e A
(d) W e ¥ T

(¢) T 3 TR IR

(A) (@) (), ()

(B) () (© (D)

©€) () (@) (@

(D) (@) () ()

SPACE FOR ROUGH WORK / T® F4 & o e

0821/ MM-SJ/ RCE-M

Set - A



94.

95.

In which article of the Constitution to ~ 94. Hfqu™ % 59 s=de 4 difts i) =)

move the Supreme Court for the v S % for weit=a = § womee

enforcement of the Fundamental Rights FH % SABR Y ERIECRERIKICIRY

————conferred is guaranteed 7

(A) Article 20 (A) STT=8T 20

(B) Article 21 (B) TR 21

(C) Article 32 (C) THT 32

(D) Article 33 (D) STI=% 33

Which of these is included in the ‘Basic 95. wfaum & @Q 3w q W

Structure’ of the Constitution ? gftaferd %76)

(@) Secular form

(b) Republic form ey

(c) Federal form g wrEy

(d) To issue writs for the protection of (dy wifees st @1 e & g waten
Fundamental Rights by R t TS gR A SR |
Supreme Court. %

(4) @ \Q (4) " (@

(B) () (b) & (B) (a), (b)

© @ ®)© \\ © @ ®) ()

96.

(D) (@) (b), () Q

What is t@re of Indian economy ? 96.

(A) Underdeveloped Economy
(B) Undeveloped Economy

(C) Developed Econbmj

(D) Developing Economy

(D) (@) (), (©, @

TR Syeferereen Y Yol & § 2
(A) erufsfaa steforereen

(B) sifoesfaa syefogereen

(C) Tofam srdfemwen

(D) foerasiier srefererce

SPACE FOR ROUGH WORK / % &4 & fert smig
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97. The pair having minimum and maximum 97. H forept sTved-ie freTaH el Eizhk!
refractive index is : ¥
Minimum - Maximum IREaGh = FEH
(A) Air - Glass (A) o7 - eﬁa
(B) Water - Glass (B) =
(C) Vacuum - Diamond <) frafa - "6th[
(D) Water - Diamond (D) S - 2
98. What growth rate of GDP for 3" quarter 98. &9 2017-18°% % fag sma #
is estimated for India in the year Hepel BT IR |
2017 - 18 ? T % ?
(A) 5.7 percent (A) 5. 7
(B) 6.3 percent (B) 63
©) 7.2 percent (@) ﬁ‘
(D) 6.5 percent & Y
99. With reference to nuclear reactor, match Q e flet & e # g 1 el ‘{-!j-ﬁ II
List I and List IT and select the corfe, tO | gHfea W{ﬁﬂﬂﬁ@ﬁﬂm@ﬂﬁw
answer using following codes : @ e wid
List I w1 T I
(a) Fertile material hite () WS e G e
(b) Fissile material ’(X\admmm (b) Ereprean Terd (i1) FefirEg
(c) Moderato Q}Q U-238 (€) WI® (i) U-238
() cOmroms\'\, iv) Water (@) s (v) W
(e) Cool: (v) U-235 (e) ¥iiaEE (v) U-235
@ ® © (@ (@ @ (b (© (@
@) @ @ @ @ A O 6@ @ @
® @ & O @ ® @ » O @ o
© v @ @ O © Gv) @ @ O O
D) v @) @ @ O @ @ O @

SPACE FOR ROUGH WORK / T% &4 ferdt W
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100. Total number of latitude and longitude is : 100. T8 Qa A T B 35l 'H@’TI BT

(A) 90 and 180 (A) 90 8K 180
- (B} 180-and 360 — (B) T80 3T 360

(C) 360 and 180 (C) 360 %X 180
(D) 180 and 90 (D) 180 3R 90

101. Equinoxes are : 101. =% &% 3 a7 v TR B |
(A) March 21 and December 22 (A) = 21 @&
(B) March 21 and September 23
(C) June 21 and December 22 1,@ famﬂ 22
(D) March 21 and September 22 %21 TS Tader 22

102. In which State Ministry a post of Trib T wf=mved § S wedmr w3t
Welfare Minister is essential ? . O 1 U BT STEYIS § ?

(a) 99

(a) Punjab % [
(b) Hariyana &Q (b) =fEmm

{(c) Odisha (c) slifsm
(d Madhya Pradosx\ (d) TEYRwW
(¢) Uttar ng@ ¢ (e) S U
() Bi \v (f) foem
(A) (@), (), (e) (A) () () (e)
(B) (), (d), (B B (© (@ @
© (@), (b), (d) (© (@, (b), (d)

(D) (b), (0), {e) (D) (b), (c), (e)
SPACE FOR ROUGH WORK / 7% %1d & fo& sg
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103. Methane cannot be prepared by : 103. A9 & sF@EST WHAT

(A) Decarboxylation of acetic acid (A) afafesw o7 & ol faeRa |

(B) Action of water on Al Cy (B) ALC; WS EaRERIES!

(C) Kolbe's electrolytic method (C) Fres 1 aa s fatd q

(D) Reduction of methyl alcohol (D) el TohiEd & STIH q

104. Consider the following statements : 104. 7= Tl W

(a) For gaseous phase reactions, the (a) W ﬁ?ﬂ%ﬁ fora < ¥ FA
rate of reaction increases with SHi%eT o gf?,’@l?ﬁ%l
decreasing presSure.

() The rate of reaction increases with 3 ‘HEFREI?I ¥ A ghe 9 Tk IR
increasing concentration of Q % gfs @Rﬁ B )

reactants.
*

() The rate of reaction beco (c) g 10° arosen § ghe & R HIH
doubled per 10° rise in t&:a . EURIECIE Bt 7 )

(d) The rate of reacti &re s with (d) iR % TS 89 F e 9 fora
decreasing surfac;&a f reactants = A gfg &t g

*

Wrong statem\gQ TTAd HYA © ¢
(a) @ aw &) (@ @)

(B) (b)and () (B (b) W ()
(©) () and (d) © @@
(D) (a) and (c) D) @ w (o)

SPACE FOR ROUGH WORK / T md @ fodl s°te
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105. At which of the following place a famous 105. A = # frefafea § @ fag =@ = Th

university existed during the Mauryan wias favafaemema sifae o @12
Age ?
— (A) Taxila (A) &R
+(B) Nalanda (B) e
(C) Vallabhi (C) =cast
(D) Sarnath (D) €A™
?

106. International date line lies on : 106. sTwisry fafy

(A) Greenwich Meridian (A) THfa=m
(B) 90° East Meridian (B) 90°
(C) 90° West Meridian () ‘a0 YT T
(D) 180° East-West Meridian ( @@—W M |/
107. Inwhich of the following year the Bhabha g fog 9d wiwr et s
Atomic  Research Centre wa Tt gem ? '
established ? 0
.
(A) 1954 (A) 1954
(B) 1955 Q (B) 1955
(C) 1956 & (C) 1956
(D) 1957 \ (D) 1957
*
*
108. For how , Government of 108. YA 9K f&d wOal & f‘a'q AT oo
India inimum support T Sfee et § 2
prices ?
(A) 21 A) 21
(B) 22 (B) 22
© 23 (C) 23
(D) 24 (D) 24

SPACE FOR ROUGH WORK / % & & ol <mre
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109. Mushroom is a:

———{(A)—Howesing plant

109, U TH ¥ :

(A) FERR Ure

(B) Fungus

(C) Plants consist of fine green threads

(D) Algae

110. Map distance 2 centimeter represent
500 metre of ground distance.
Representative fraction is
(A) 1 :25000
(B) 1 :50000
(C) 1:2500 .

(D) 1:5000 @%

111. \\ct a Board of

By which of the foll 8,
Control was con&o exercise d1rect
control over thPNEa ia Company ?

(A) Regulatiig Act of 1773

(B) Pitt's India Act of 1784
(C) Charter Act of 1813

(D) Charter Act of 1833

OQ (C) 1 ‘: 2500

&

(B) WIS

() e v 1 F QR A A

(D) ®aH
110. HHE{EA H 2 & % 500 HieT B
Tl &1 FeRien® B
\0
(

1 : 50000
(D) 1:5000

111. wmmmﬁﬁﬁm@m
W%mﬁmﬁmﬁ@mwm
@m—mmmw 9417 '

(A) 1773 Tl WRATET TR
@) 1784 1 g 1 T qaz
(C) 1813 Tl WX TR

(D) 1833 W St

SPACE FOR ROUGH WORK / % & & od T
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112, Which is not included in rural 112. =1 4 9§ o stelevern o wnfiret = §
infrastructure from the followings ?
(A) Rural road (A) T weh
(B) Electrification (B) fergdism
(C) Construction of new houses (C) =& swamdl &1 iy
(D) Expansion of irrigation facilities (D) fH=E glawmsijeay fawm

113.

114.

Sugarcane cultivation in India is an

example of :

(A)
(B)
(©

(D)

Who of the fo]l
‘Igbal Nama iri’

(4)

(B)

Plantation agriculture

. O:
Mechanised culﬁ\®®
Xas the author of

Shifting cultivation

Irrigated cultivation

Khafi Kfian

Mutmad Khan

(C) Shaista Khan

(D) Jahangir

113.

114.

%WWW%
@

) uRafia sy
(C) fafea Hiy

(D) wHiigd iy

‘gaTe - T-SENTR) o5 eras Prefalaa
T3 HHar?

(A) TTE G
(B) T @l
(©) e @
(D) &R

Set~ A
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115. If a bill is passed by Lok Sabha and sent

115. afz & fadaes daw ¥ a9 & 918

to Rajya Sabha, in the meanwhile Lok T ¥ e 9 SR T S A
Sabha prorogates, what shall be G B ST a0 B 2
happened ?
(a) Bill shall not be lapsed. @) TadTs ST T & e
(b) Rajya Sabha can consider the bill. (b) TsITEMT ade W fER R W
() Lok Sabha will again consider on (c) TAHAA 3 | g7 Fo=m Tt |
it.
(d) It will be lapsed. (d) I8 AN & ST
(A) @), ®) (a) (@), (®) @
(B) (o) (d) (B) (o) @ ()0
© @ © © @1
©) ®) @ o) 6%
116. In memory of who of the following the ~ 116 # g foraet wiv | s e

city of Jaunpur was founded by Feroz T ST T A 4t ?

e

é\ (a) T Se
(B) Ghiyasuddin Tughlaq Q (B) FrIgER T
(C) Allauddin Khilji & (C) TSR faerst
(D) Muhammad Bin Tw% (D) . TR fo Trerh

Which of the { &ovement was 117.

Tughlaq ?
(A) Ghiyasuddin Balban

3t vmrEErt I 3 o uRd ®

117.
launched b maswamy Naicker Frefafed B | S STEeH =l 91 ?
in South Indla !
(A) Satya Shodhak Movement (A) T TF AT
(B) Anti - Brahmin Movement (B) wierer - forrelt sniie
(C) Self Respect Movement (C) Tty I
(D) Dravid Palani Movement (D) =fors Tear! iR

SPACE FOR ROUGH WORK / T% &rd & fa&t s
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118 Wh1ch of these is matched 7

118. T9H N GAferd 72

(a) Parhament can admlt any state in (@ dag 99 ¥ frdt =1 ! gAY T Rl
the Union. B

(b) Parliament can establish a new (b) UG TH T A T TR B Gl
state. B

(c) Parliament can increase the area of (c) Hog frdt w1 # dm el T &
any state.

(d) Parliament can diminish the area of (d) Hog fordt w1 & T w12t wehdt B
any state. )

() Parliament can élfei‘ the boundaries (e) WY i gfEfda &%
of any state.

@) @ 0, © A ()@Q

®) b)© @ Q) (@

© () (@) () ), (), (e)

(D) (d), () (@) (d), (e), (a)

119.

(A)
(B)
(©)
(D).

Inw
Britis

120.

Among the following which o

security guard for the human b8§§

Red blood corpuscles

White blood co &
Blood Platelat \
Plasma \

i ’\*20 llowing province of

the Tebhaga Movement was

active from 1945 to 1947 ?

(A)
(B)
©)
(D)

Bengal
Bihar
Orissa

Central Provinces

(A)
(B)
(©)
(D)

119. fr=fafeg % ge9 ®F T 19 IR %
TN ME B2

e TR v
aq TR BRI
TR weded
A

120. fafew yra & fFefafes o @ feg wia §
1945 Q 1947 Tk AU A =l ?

(4)

(B)
(©)

ERI]
fRr
Skl

(D) weauid

i R Y ke
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(iii) CURRENT AFFAIRS, (iii) THETITE TSAHH, TAEHT,

SPORTS, NATIONAL- or-faqo
——INTERNATIONAL— —
121. Kusum yojana is associated with which 121. A A H Hely fire § @ foperd 2
" of the following ?

(A) Education () Fen

(B) Health (B) A

(C) Energy security ©) B @

(D) Crop security (D) U gram Q

122. FA A9 &W%wﬁwaﬁ

122. Parliament of which of the following
country scraps Presidential term limit ? e WAR?
(A) India (A
(B) Pakistan RlETSIE
(C) China = ,
(D) Sri Lanka (D) it

&>

123. Sfaq Gy Shfsd -

123. Match the following : &Q
(@) Gwadar Port (i Xdl (a) TR HTTE (@ wRa
() Hambantota )x kistan (b) AR SO (i) TR
Port ¢
(¢) Chabgh &&) Sri Lanka () “EERSEIME (i) i
(d) Kand& (iv) Iran (d) A AIME  (iv) ?{Fl
@@ ) (o) (d) @ () () (@
(A) @) @) @ @) (A) @ @) @O @)
(B) (i) (i) (v) (@) (B) @) @) @) @
©) -G) (v) @) (@) © @ @v) @@ @
D) () @ @) @) . (D) (i) @) @) O
SPACE FOR ROUGH WORK / 1% @1 & fo& <mie
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124. For which field Padmashri award was  124. 2018 ¥ 50 T4 F TR TqAal gl

given to Shyamlal Chaturvedi of this state yeehR forg & | fem T ?
 intheyear20182

(A) Literature (A) wifeed

(B) Social work (B) T HE

(C) Sports (C) ©«

(D) Science and Engineering (D) fomm™ wd it

125. Commonwealth games 2018 will be host ~ 125. e T 2918 s A BEw

by which of the following country ? = aﬁ:rn & O

(A) England (A)

(B) South Africa

(C) Australia 1%

(D) India (D) R4

126. ‘Wmch of the followmg country@; 126. e R S0 2017 H FrA H @ EEK]
v e 1S 2

behind in Global Hunger Ind%
(A) China (A) =ik

(B) Sri Lanka @ @) i

(C) Bangladesh (C) R

(D) India Qo (D) A
S

127. For@’nany seats of this state Rajya  127. TsI€¥l T, 2018 30 T4 H et Wi

Sabha election 2018 was held ? HfeRdgena? .
(A) 05 (A) 05
(B) 02 - (B) 02
) 03 ©) 03
(D) 01 (D) 01
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128. Which of the following is a ‘Saras’ ?

128, FE A QW@ FE?

(A) Missile (A) TauES
(B) Transport aircraft . (B) Witered fadM
(C) Satellite C) Swe
(D) Vessel (D) SIEE
129. Which of the following is a ranking of ~ 129. 2018 ¥ i grRr s fova X0 § vra o
India in world ranking declared by FIFA AT IR WE?
in 2018 ? ®
(A) 102 (A) 102 0
(B) 96 (B) 9 ()
©) 94 (C) 94 \ .
(D) 99 (D) @
130. Participant of Reo Olympic, women % T WET O Srel Afsen BiR
hockey player Renuka Yadav is associated € YRR Aed 39 T * fpm wR 9
with which city of this state ? ¢ O weifed 2
(A) Raipur % (A) TR
(B) Bilaspur &Q (B) TeremEYX
(C) Rajnandgaon \ © RSEIRIC]
(D) Durg 0\ o) g
L 2
131. Second large @p :olar plant in 131 3T T T T G T o €R e =
country was gt up in which of the o § frg w9 vt feman e ?
following state ? i
(A) Punjab (A) S
(B) Uttar Pradesh (B) ST U
(C) Maharashtra (C) HIRY
(D) Madhya Pradesh (D) T&F TR
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132." In Blue flag-17, Israel conducted combat 132, S ERIT-17 oo A e B 4 fra 2

drill with which of the following w1y Hg garaw fwan?
_  country ?- : —

(A) India (A) ¥Rd
(B) Pakistan (B) &I
(C) China - (€ ==
(D) All the above (D) IadEd wft

133. In which year National games will be 133 T4 U5 BN TR A W il o SIS
organised by this state ? ERISICU] ?O
(A) 2018 (A)’ 2018
(B) 2019 (B 019
(C) 2020 K20
(D) 2022 2022

134. How much grant is given by 134. wm#%—%mﬁmﬁwm
Government in E-Thela Sahayaf® fapret Tl < SRR B2
of this state ? @
(A) 10,000 Q (A) 10,000
(B) ¥ 15,000 & (B) ¥ 15,000
(C) ¥ 25,000 .\\ (C) T 25,000
(D) X 30 © (D) 30,000

N

135. Whi&e following is first all women ~ 135. ¥Rd <l ween Afgen waed o Wy 7=
supervised railway station in India ? T g A 272
(A) Kurla (A) i
(B) Borivili (B) arifait
(C) Matunga (C) wem
(D) Habibganj (D) FEIEUE]

Set -~
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(iv) GENERAL KNOWLEDGE OF (iv) T hT [T SR
STATE

136. 31 @4 2017 &I fafq o odrame =3 4

136. How many “Farmers Clubs” were

working in Chhattisgarh State on 31° fefer ek Serel Shrad 92
March 2017 ?

(A) 550 (A) 550

(B) 575 (B) 575

(C) 600 (C) 600 O®

D) 650
(D) 650 (D) 650 Q

137.

Lo Q e <
RENE
o\ <4
\\_\k% iz?/ AT
- ’\] *
1\
el &Q
Lo \Q
In the map gwen» ’Xur tributary f@m mﬁ'ﬁ ¥ =R gers A w guE
rivers are sho Qve main river T ¥ @ ¥ TeAm 9 feer T yeE w6 g
indicated @ map 1s :
(A) Cauvery (A) Eactil
(B) Krishna (B) P
(C) Mahanadi (C) WIS
(D) Godavari (D) e
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138. Which of the following scheme of the

139.

140.

Govt. of this state aims at to distribute

Anganbadi Centres ?
(A)
(B)

Mukhy‘amantri Jatan Yojana

Mukhyamantri Bal Sandarbh

Yojana
©
(D)

Mukhyamantri Amrit Yojana
Mukhyamantri Bal Sudhar Yojana

When “Prime Minister Jan-Dhan Yojana”
is introduced in India ?

(A) 28 August 2014

(B) 28 August 2015

(C) 28 August 2016

(D) 28 August 2013 Q
O

Which of the Constituencies d 140

for Scheduled Caste capdlidatesin State
Legislative Assembly\
(i) Palari ’\
{iiy Bhatgao .
Lail%’

(i)

(iv) ramjaigarh
(v)
(A)
(B)
(©)
(D)

Maro

(i), (i), (v)
(i), (v), (v)
(i), (i), (v)
(i), (i), (v)

139.

138. T9 o9 % WA = FeAfafea g g

T 3299 50,000 HSTES! hal § GHfad

_ favoured-nutritious milk to the 50,000 Whfiew gy famm T2 —

(A) TEAT S A
(B) eI at Wy A

(C) 28 3T 2016
(D) 28 3TTEd 2013

. o9 faurawr § o fratae & § we-w

srgfem sl % forg smfEm €2

() T
-
WS
HHSATG
B
(i), (i), (v)
(i), (iv), (v)
(i), (i), (v)

(D) () (@), (v)
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141. Which one of the countries has no coast ~ 141. T#d T SY ¥ T 9 AR § 7

line ?
————(A)y—Pakistan—————— (A)—ifEREaH

(B) Hungary (B) TW
(©) Iraq ©
(D) U.A.E. (D) JTs

142. Late Suruj Bai Khande was the celebrated 142. €. Y& I @ie 34  Frefated |
singer of which of the folk-song of this Y fopa clie-Tid it o ?
state ? O
(A) Pandwani (A) ‘Tl@a"l'*ﬁ C)
(B) Lorik-chanda (B) 3@:0
(C) Dadariya ©
(D) Bharthari

143. Which of the following dynasty ruled in @ fopm UoEw A 39 T H
this state for the longest period ? Herd ol oTafy 9% e TR ?
(A) Sharabhptiriyas‘ % (‘A) WG
(B) Nalas &Q (B) ¥
(C) Pandus \ (C) g
(D) Kalchuris \ R (D) SR

R

144. Which mountai ditionally serves a 144. WWWWW@WW@Q
boundary separating Europe from Asia ? i U § ST HI g7
(A) The Alps (A) STeq™
(B) The Urals (B) IU<H
(C) The Caucasus (©) EACRES
(D) None of these (D) TTH @ FiE T8l
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145.

—— the year 2017-2——

146.

147.

Who of the following is the recipient of
Haji Hasan Ali Samman of this state for

145. 2017 % ToTC 39 U9 o STt 564 3Tt 99M

¥ Wl Frefarted § ¥ 82

(A) Mohammad Sajjad Ali
(B). Hasan Zafar

(C) Syed Manzoor Ali

(D) Akbar Hydari

In which resolution 2/3 majority of State
Legislative Assembly is required ?

(i) Government Bill
(i) Constitution Amendment Bill

(iiiy To establish State Legislative
Council

(iv) To abolish State Legislative E&

(A) (@), (i)
(B) (i), (iv)
© @ @)
(D) (i), (it

&
N\
\

Q\

On the following river of this
state th® ‘Satdhara’ fall exists ?

(A) Mahanadi

(B) Indrawati

(C) Shabari
(D) Arpa

. fog gam@

(A) TIEHR Tl et
(B) & MW

(C) g HsR it
(D) T ol

Taema 1 2/3 9gHa

i Wwaﬁﬁwﬁf&aﬁﬁﬁmﬁm‘m&m'

STy feord 8 2
(A) TR
(B) wRm
©) el

(D) 3Rdl
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148. Arrange in sequence the Governors of the 148. T % TSI I A § S Hife

state : ,
(i) KM. Seth ‘(i) FT. U3
———{if)—Shekhar Dutta (i) ¥EITT
(i) D.N. Sahay (i) ST TR

(iv) E.S.L. Narasimhan (v) ZuaTd. wfee
(A) (), (i), (i), () (A) (), @v), (i), @)
(B)  Gii), (i), (iv), (i (B) (i), (i), (iv), ()
© (i) @), Gv), G © (i), @ (v), (i) |
(D) (i), (v), (), (id) (D) (i), (i), (@), (ii)O

149. Which district has lowest working  149. v 2011 & . & ST T o
population ratio in Chhattisgarh under g ] STEEAT 3?'1”7[6 LSELE
2011 census ? FAY
(A) Durg (@\
(B) Raipur YR
(C) Korba ‘ O(C) R

150. Which of the following is 150. 39 T ¥ Frafafea 9 @ S ged s
sanctuary in this state ? o AN § 7

(A) Barnavapara &Q‘ (A) SRASAIR
(B) Udanti \ LB s
(C) Tamor Pingm (C) FuR fHren

(D) Achanakmar (D) STEMRAR

(D) Bilaspur Q
&i ggest

-00o0- -000-
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SET - A

ITT I HT T OHT : 3.00 € ' { atferRan 3 : 150
Maximum Marks : 150

Time for marking answers 7 3.00 Hours —

C
e
1. o8 uvE-gftaest o Fret W 8
YT o6 ) HEge ol e M - 1-20
(@) () & =tk - 21-30
() QT ST U wied - 31-40
(i) AP TOR - 47

qm-(N) (@) A AR y -
@) SR A L () - 120
(iii) RIS TR, WOES, W o 121-135
(v) ToFH 9AF SEER L 136 -150
T Y 1 3% F 1 el 150 T A |

2. HE ¥ W, & T OMR SW-YE (STER-Fi 3ifeRa Wt |

3. Teld ST SATHA T WX 1/4 3h HR ‘

4. e off e % SHerpeied A A vﬁ B H FA Sfa 7 |

5. OMR ST-¥e (3TER-IME) FPHUTS R o A B SR /o e 7% we W A

i g = faeree o1 e ¥ TFoRaEy 9 TS 8 S |

Note : &9 _
1.  This Question Booklet eonsists of Parts namely :

Part - (A) Comphtes Related General Knowledge - 1-20
Part - (B ndi with Grammar - 21 -30
@ General English with Grammar - 31 -40
i) General Mathematics - 41-70
. P% (i) General Mental Aptitude - 71-85
(i) General Knowledge - 86 - 120
(iti) Current Affairs, Sports, National-International - 121 - 135
(iv) General Knowledge of State - 136 - 150

Each question carries 1 mark. All 150 questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

1/4 mark will be deducted for each wrong Answer,

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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